Lesson 7

If I were to give you an adjective, be able to decline it (add the various endings), and be able to do the same with the demonstrative pronouns.

An adjective just describes a noun:


=servant
a righteous servant

There are several things you need to know in order to translate an adjective.  What noun does it agree with?

1) An adjective agrees with the noun it modifies in gender, number, and case – Up above “servant” is masculine, nominative, singular so righteous must be the same.
(Don’t be fooled by endings, remember some feminine nouns take the ending, while its adjective may take the  ending…so don’t be deceived by looks).

2) Uses of adj.

a) Attributive: This use just modifies the noun and the adjective will usually follow the article (Attributive is After the Article – AAA) the righteous slave can be written -   in each case the adjective follows the article “the” and so must be attributive.

b) Predicate: This construction sets up a type of “noun clause” where the verb “to be” (i.e. – is, are, etc) needs to be inserted.  In this case the adjective does not follow the article.  (Predicate Precedes).  EXAMPLE – The slave is righteous - 
c) Substantive:  Here the adjective may or may not follow the article, but it is not accompanied by the noun and just takes its place.  EX.  Instead of saying “a blonde woman” we might say “Blondie.”  Or in stead of “short sister” we may say “Shorty,” or “short one.” 

So if I just have then I’m saying “the righteous one,” or “the righteous.”
Demonstrative Pronouns:  they are declined like adjectives are, and agree with the noun they modify as do adjectives.  The difference is that they are always in Predicate position, or there is just no article present.  and its forms mean “this” and means “that.”
